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100131 P12 3—0 100328 #t & AxH &
TK-ID | & % B B 4 RR [ RR [, | point | RR | RR [, point | RR [ RR || point [ Total [ Total

& lIE_ point & &t | & B point & &t || 3 IE | point & &t | point | Rank
294 |FER |EAN | NATZXba—RL—ar 0 3 110 | 10 | 120 4 90 10 | 100 | 220 1
499 |EE | K 3 110 110 4 90 10 | 100 0 210 2
500 [FK |RB |[TUFRRHAYIL(HK) 0 1 150 | 10 | 160 || DNS 1 1 161 3
521 |@&)Il [T |BINE—FXEEK 2 130 | 10 | 140 0 0 140 4
701 |£F (Rt [TUFRFHAOIL ) 0 13 15 10 25 6 60 10 70 95 5
354 IO [KE (AL (BR) 10 20 20 19 15 10 25 18 15 10 25 70 6
400 |[BRE (BE |YR/vTGE) 7 50 50 0 DNF 11 11 61 7
350 @A (1 |[HaoTdoiayieXVvEE 15 15 15 DNF 11 11 20 15 10 25 51 8
722 (WE 1B 0 8 40 10 50 0 50 9
516 |#& XE (MEESK 0 10 20 10 30 24 10 10 20 50 9
387 |&F o |EERER 0 17 15 10 25 28 10 10 20 45 1
151  [#BE |XH 0 0 9 30 10 40 40 12
367 |2@A |EF 14 15 15 || DNF 11 11 DNF 11 11 37 13
349 |BBE [HE [(#R)A XL 0 16 15 10 25 0 25 14
206 (8@ |EN (B /S—LAXT 0 0 17 15 10 25 25 14
721 |+B |Ef |[RREEAXE 0 0 11 15 10 25 25 14
805 [EX |H&E [[BEREXZE 0 0 14 15 10 25 25 14
793 |E% |EH [EME#FHIEGE) 0 DNS 1 1 34 5 10 15 16 18
744 |=8 | [RERXFE 16 15 15 0 0 15 19
295 |& k1T |BATAE—T LS 0 0 31 5 10 15 15 19
523 |LEiB |1E BAXFE—EK DNF 1 1 DNF 11 11 0 12 21
780 |thE |[HES [SIFEKFE 0 DNS 1 1 DNF 11 11 12 21
118 |EEE |#% |BEETI/V)2—13avX () 0 DNF 11 11 0 1 23
174 |EIB |& AL AD)L 0 DNF 11 11 0 1 23
225 |fRB |HE (B ITLIXE— 0 DNF 11 11 0 1 23
267 [FF |[BAHE| (B BAOVIH—EZR 0 DNF 11 11 0 1 23
299 |EH (BN (BREREEE 0 DNF 11 11 0 1 23
264 (BB |Bz |VvhESH ) 0 0 DNF 11 11 1 23
342 |#K  |HB [HeRELEARER 0 0 DNF 11 11 1 23
347 |Hft  [XXE | (BR) ATERET 0 0 DNF 11 11 1 23
557 |XKW [BEF [HEXZE 0 0 DNF 11 11 1 23
710 |#ME  [BAR|BAKZE DNF 1 1 0 0 1 32
718 | KBW|[ERE [AAKZE DNF 1 1 0 0 1 32
3 |ZF |RE |BEBLEILUFR 0 DNS 1 1 0 1 32
302 |HhfE (MK 0 0 DNS 1 1 1 32




